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2. MiFAz ;N (Compiler) 7 146 & di4;N e @

(A) #F24:% (B) FR#F (C) B8EHF (D) {iF&F
3. T3 faiﬁ{@q"f_% 5 %+ g+ 4845 Visa 2 Master Card 75 & #| T_eie i
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(A) SSL (B) BBS (C) HTTP (D) SET
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D. Bt ARt chik gh R 7
(A) #p iefatiz B (B) B3 425 sk A
(C) inAzAf e w4 2 2 g (D) 2R3 F 4
b. i * FHNIAFTA DRG0 LR kP BRAL ATHERE
#l~ ARy CERAREY TIEA d/éfﬁwﬁdﬁ ?
(A) ab,c (B) b,c,d (C) ab,d (D) ac,d
7. Which multiple access technique is used by IEEE 802.11 wireless LAN
(WiFi)?
(A) CDMA (B) CSMA/CA (C) ALOHA (D)CSMA/CD
8. A Turing machine has these components:
(A) tape, memory, and read/write head
(B) disk, controller, and read/write head
(C) tape, controller, and read/write head
(D) disk, memory, and controller

9. Denial of service is a type of attack that threatens

(A) confidentiality (B) integrity
(C) availability (D) all of the above
10. The link state routing uses the algorithm to build the
routing table.
(A) Bellman Ford (B) Kruskal’s
(C) Dijkstra’s (D) Euclid’s
11. __ isanexample of lossy compression.
(A) Huffman (B) Lempel Ziv encoding
(C) Run-length encoding (D) JPEG

12. The running time T(n) where 'n" is the input size of a recursive algorithm
Is given as follows:
T(n)=c+T(n-1), if n>1;
d, otherwise,

where ¢ and d are constants. The order of this algorithm is
(A) n? (B) n (C)nlogn) (D) n"
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13. Which of the following memory types is the fastest?

(A) Cache (B) RAM (C) ROM (D) SSD
14. Which of the following is used to connect a computer to a network?

(A) Router (B) Ramp

(C) Gateway (D) Network interface card

15. What factor reduces the strength of an electrical signal as it travels along
a transmission medium?

( A) Bandwidth (B) Signal-to-noise ratio

(C) Biterror rate (D) Attenuation

16. How many bytes of memory are required to present a 16*16 dot matrix
for a Chinese font character?

(A) 16 (B) 32 (C) 64 (D) 128
1'7. We call a 32 bit computer or a 64 bit computer based on
(A) Register numbers (B) Address Bus
(C) RAM size (D) Data Bus
18. In a computer, what function does a decoder usually perform?
(A) Adding (B) Shifting
(C) Addressing memory (D) Multiplying
19. Bk a,b,cehiE®=x % 3,4,5 P] --a*(3+b)/2-c++* b i 5
(A) -9 (B) -10 (C) -13 (D) 8

20. 1% #% ;% & > (selective backup) 3 pF+ FLi¥ :
(A) £ B ;% #% i»(differential backup)
(B) # & 3% % i» (incremental backup)
(C) im 3% & i (partial backup)
(D) %t % i»(archival backup)
21. &4 8 Tcat -n<testl>test2 5 ehg L 5
(A) #-testl & & 3] test2
(B) #-testl & # 3] test2
(C) #-test2 & i 3 testl
(D) #-testl 4c » 7[5 & ¥ 5 test2 2
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22. & E T HIAH RV T AIMEHAE S & KR B MII BN
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(A) SAS (B) Scsl

(C) SATA (D) k% :g (Fiber Channel)
23. Linux & 527 % - g SCSI A B X & LHB A 2

(A) hda (B) hdb (C) sda (D) sdb
24, T 7| @ iﬁ T OR_E R e BB

(A) WEP (B) WPA-PSK (C) TKEP (D) AES

o~ REXFEAE (£284)

(—) %2 H5)25-12~58-85~72> 31 Tje R A2 | #vd T
< o A darg g AR o (7 4)

(= ) For the definition of function PUZZLE shown below. Please trace the
calling sequence for PUZZLE (3, ‘A", 'B', 'C' ) and show the output
results. (hint: % Mie ik SR A BN H B2 % <)
(7 ~)

void PUZZLE(int n, char A, char B, char C) {
ifln==1) {
printf("sheet %d %c --> %c\n", n, A, C);
}

else {
PUZZLE(n-1, A, C, B);
printf("sheet %d %c --> %c\n", n, A, C);
PUZZLE(n-1, B, A, C);

g%ifmi— ;“éffﬁi;‘ LA A EC ] R A B o (7 4)



(2) B3 F e dic F(W, X, Y, 2)=Em(0,2,5,7,8,10,13,15) » 31 * + s @ %
1}[“ Ql;&?g it o (7 Ao\)
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